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QUESTION 1
You have an existing Windows Communication Foundation (WCF) service.

You need to ensure that other services are notified when the service is started.
What should you do?

A. Add the following standard endpoint to the service.
<endpoint name="udpAnnouncementEndpoint"
kind="udpDiscoveryEndpoint" />

B. Add the following standard endpoint to the service.
<endpoint name="udpDiscoveryEndpoint"
kind="udpAnnouncementEndpoint" />

C. Add a service behavior with the following element.
<serviceDiscovery>
<announcementEndpoints>
<endpoint kind="udpDiscoveryEndpoint" />
</announcementEndpoints>
</serviceDiscovery>

D. Add a service behavior with the following element.
<serviceDiscovery>
<announcementEndpoints>
<endpoint kind="udpAnnouncementEndpoint™ />
</announcementEndpoints>
</serviceDiscovery>

Answer: D

QUESTION 2

You are developing a Windows Communication Foundation (WCF) service hamed
CalculatorService, which implements the ICalculatorService contract.

The service is configured to be discoverable through UDP.

CalculatorService contains multiple endpoints.

One of the endpoints is configured with the following behavior.

<behavior name=""cajculatcorEndpointBehavioxr"™>
<endpointDDiscovery enabled="true™>
<extensions>
<Information>
ICalculatorService Endpoint.
</ Informaction>
<Informationd>
Udp Exposed Calculator Endpoint
</ Informatcion>
</extensions>
</endpointDiscovery>

You need to log all the endpoint metadata information that is added by the service host.
Which code segment should you use?
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A, wvar discoveryClient =
new DiscoveryClient (new UdpDiacovervEndpoint()):
var findCricteria =
new FindCriteria(typecf(ICalculatorSexvice)):
var TindResponse = discoveryClient.Faind(findCraicterxria)::

foreach (var meta in findResponse.Endpoints)
i
foreach (var xElement in meta.Extensions)
{
Log("Endpoint Information: *
+ xXElement.Element ("Information”) .Value)

}
}

B. var discoveryClient =
new DiscoveryClient (new UdpDiscoveryEndpoainti()):
var findCricterxria  new FindCraicterxrial():
var findResponse = discoveryClienc.Find(findCricerxria):
var meta = discoveryClient.Endpcoaint?

foreach (var xElement in mecta.Contract.Operations) {
Log ("Endpoint Informaction: "
+ XElement .Behaviors.ToScrxring(()):

}

C. var discoveryClient =
new DiscoveryClient (new UdpDiscovervEndpoint()):
vaxr findCricerxria =
new FindCriteria(cypeorf(ICaiculactorService)):
var findResponse = discoverxyClient.Find(findCritexia) >
var mecta = findResponse.Endpointsi{Oo]:

foreach (var xElement in meta.Extensions)
{
Log ("Endpoint Information: "
+ XElement.Element ("Information”) .Value)
}

D. var discoveryClient =
new DiscoveryClient(new UdpDiscoveryEndpoint());
var findCriteria =
new FindCriteria(typeof(ICalculatorService));
var findResponse = discoveryClient.Find(findCriteria);
foreach(var meta in findResponse.Endpoints)

foreach(var xElement in meta.Extentions)

Log("Endpoint Information: "
+ xElement.Element("'Information').¥alue);

¥
¥

Option A
Option B
Option C
Option D

ocow»

Answer: A
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QUESTION 3

You develop a Windows Communication Foundation (WCF) service.

You enable all performance counters and run multiple calls to the service.
The service must isolate session data for each user.

You need to monitor the instancing behavior used in the service.

Which performance counter should you monitor?

ServiceModelService 4.0.0.0\Calls
ServiceModelService 4.0.0.0\Instances

ASP.NET State Service\State Server Sessions Active
ASP.NET State Service\State Server Sessions Total

Cow>

Answer: B

QUESTION 4

You develop a Windows Communication Foundation (WCF) service.

You name the service MovieService in the Movie namespace.

The service is hosted in Microsoft Internet Information Services (l1S).

You copy the assembly containing the service to the bin folder in the virtual directory path.
You need to set up the URI that is mapped to the service.

What should you do?

A. Add the following code segment to the web.config file.
<serviceHostingEnvironment>
<serviceActivations>
<add relativeAddress="./Movie" service="Movie.MovieService" />
</serviceActivations>
</serviceHostingEnvironment>

B. Add a Movie.svc file in the root of the virtual path with the following line.
<% @ServiceHost language="C#" Service="MovieService">

C. Add the following code segment to the web.config file.
<serviceHostingEnvironment>
<serviceActivations>
<add relativeAddress="./Movie.svc" service="Movie.MovieService" />
</serviceActivations>
</serviceHostingEnvirornnent>

D. Add a Movie.svc file in the root of the virtual path with the following line.
<% @ServiceHost language="C#" Service="MovieService.svc" %>

Answer: B

QUESTION 5

You are creating a Window s Communication Foundation (WCF) service application.

The application needs to service many clients and requests simultaneously.

The application also needs to ensure subsequent individual client requests provide a stateful
conversation.

You need to configure the service to support these requirements.

Which attribute should you add to the class that is implementing the service?

A. [ServiceBehavior (lnstanceContextMode
InstanceContextMode.PerSession,
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ConcurrencyMode = ConcurrencyMode.Single)]
B. [ServiceBehavior (lnstanceContextMode =
InstanceContextMode.PerCall,
ConcurrencyMode = ConcurrencyMode.Reentrant) ]
C. [ServiceBehavior (InstanceContextMode =
InstanceContextMode.PerSession,
ConcurrencyMode = ConcurrencyMode.Multiple) ]
D. [ServiceBehavior (lnstanceContextMode =
InstanceContextMode.PerCall,
ConcurrencyMode = ConcurrencyMode.Multiple) ]

Answer: C

QUESTION 6

You are configuring services to be discoverable.

The services must be discoverable without relying on a central server.

Client applications that consume the services are on a network segment that is separate from the
network segment that the services are located on.

A firewall blocks all TCP ports between the two network segments, but allows other protocols to
pass through.

You need to ensure that the client applications can discover the services.

What should you do?

Use ad-hoc discovery mode over HTTP.
Use ad-hoc discovery mode over UDP.
Use managed discovery mode over HTTP.
Use managed discovery mode over UDP.

Cow»

Answer: B

Explanation:

Managed discovery modes are incorrect, they require central server for discovery.

By default the .NET Framework contains support for Ad-Hoc discovery over the UDP protocol

QUESTION 7

Drag and Drop Question

You have a client application that uses an existing Windows Communication Foundation (WCF)
service.

The client application contains a defined EndpointAddress object named endpointAddress.

A class named ServiceClient is generated by using the Svcutil tool to invoke the WCF service.
Instances of the ServiceClient class are created as follows:

ServiceClient client = new ServiceClient (CreateBinding(),
endpointAddress) ;

The client application must meet the following requirements:

- Optimize message-level security when transporting both text files and
large files.
- Provide transport-level security by using the HTTPS protocol.

You need to create the code for the CreateBinding() method.
Which four code segments should you use in sequence? (To answer, move the appropriate four
code segments from the list of code segments to the answer area and arrange them in the correct
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order.)
Answer Area
NetNamedPipeBinding binding =
new NetNamedPipeBinding
{

Security = { Mode =
NetNamedPipeSecurityMode.Transport },

TransactionProtocol =
TransactionProtocol.WSAtomicTransactionll
¥

return new WsHttpBinding():

}

WSHttpBinding binding = new WSHttpBinding
{

Security = { Mode =
SecurityMode .Message }, TextEncoding =
new ASCIIEncoding()

r:

return binding;
}

binding.TransferMode =
TransferMode,Streamed;

return new NetNamedPipeBinding():
}

binding.MessageEncoding =
WSMessageEncoding.Text;

private static WSHtipBinding CreateBinding()
{

CustomBinding binding = new CustomBinding()

private static CustomBinding CreateBinding()
{

binding.Elements.Add
{new MtomMessageEncodingBindingElement());
binding.Elements.Add
{new HttpsTransportBi

private static NetNamedPipeBinding CreateBin
ding ()
{

Answer:
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Answer Area

NetNamedPipeBinding binding =
new NetNamedPipeBinding
{
Security = { Mode' =
NetNamedPipeSecurityMode.Transport },
TransactionProtocol =
TransactionProtocol.WSAtomicTransactionll
¥

WSH ing CreateBinding()

2]

private static
{

i

o
t
L8]
(41}
s
]
%)

return new WsHttpBinding():

}

WSHttpBinding binding = new WSHttpBinding
{

Security = { Mode =
SecurityMode.Message }, TextEncoding =

¥

WSHttpBinding binding = new WSHttpBinding
{

Security = { Mode =
SecurityMode.Message }, TextEncoding =
new ASCIIEncoding()
¥:

binding.MessageEncoding =
WSMessageEncoding.Text;

return binding:
}

return binding;
}

binding.TransferMode =
TransferMode,Streamed;

return new NetNamedPipeBinding():
}

binding.MessageEncoding =
WSMessageEncoding.Text;

private static WSHttpBinding CreateBinding()
{

CustomBinding binding = new CustomBinding()

private static CustomBinding CreateBinding()
{

binding.Elements.Add

{(new MtomMessageEncodingBindingElement());
binding.Elements.2dd

{new HttpsTransportBindingElement()):

private static NetNamedPipeBinding CreateBin
ding ()
{

QUESTION 8

You develop a Windows Communication Foundation (WCF) service.
It is used exclusively as an intranet application and is currently unsecured.
You need to ensure that the service meets the following requirements:

- The service now must be exposed as an Internet application.
- The service must be secured at the transport level.

Get Latest & Actual 70-513 Exam's Question and Answers from Lead2pass.

http://www.lead2pass.com



http://www.lead2pass.com/70-513.html
http://www.lead2pass.com/

» Instant Download * PDF And VCE * 100% Passing Guarantee * 100% Money Back Guarantee

- Impersonation and delegation cannot be enabled.
What should you use?

wsHttpBinding and HTTPS
basicHttpBinding and Kerberos
basicHttpBinding and HTTP
wsHttpBinding and Kerberos

Cow»

Answer: A

QUESTION 9

You are developing a Windows Communication Foundation (WCF) service.
You enable logging in the configuration file.

The opening tag is defined as follows.

<messagelogging logEntireMessage="true"™
logMalformedMessages-"crue™
logMessagesiictServicelevel="cxrue"™
logMessagesitTransportlevel="crue™
maxMessagesToLog="20">

You need to ensure that logging is implemented so that only messages with SOAP headers are

logged.
What should you add to the filters element of the application configuration file?

A <add xmlins:scap="hetetp://www.w3.0xg/2003/0S/scap—envelope™>
socap:Headerx
</add>

B. <add xmins:socap="htep://www.w3.0xrg/2003/0S8/scap-envelope”™>
JAction([sctarts—-with(text (), 'scap:Headex"'))

C. <add xmlins:soap="http://www.w3.0xg/2003/0S/scap—envelcpe”™>
/scap:Envelope/scap: Headex
</add>

D. <add xmins:scap="hrtep://www.w3.0xrg/2003/0S/scap—envelope”™>
/JAction[starts—-with(text (), "scap:Envelcope’)]
</add>

Option A
Option B
Option C
Option D

©Cow»

Answer: C

QUESTION 10

You are developing a Windows Service.

The Windows Service will host a Windows Communication Foundation (WCF) service.
The Windows Service class will inherit from ServiceBase.

You need to ensure that the WCF service starts when the Windows Service is restarted.
What should you do in the Windows Service class?
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A. Create a public method named Main.
Create a new ServiceHost in the Main method.
Override the OnShutdown method and close the ServiceHost.

B. Override the OnStart method and create and open a new ServiceHost.
Override the OnStop method and close the ServiceHost.

C. Override the OnPowerEvent method and open a new ServiceHost.
Override the OnShutdown method and close the ServiceHost.

D. Override the OnContinue method and open a new ServiceHost.
Override the OnStop method and close the ServiceHost.

Answer: B

QUESTION 11

You are modifying a Windows Communication Foundation (WCF) service that allows customers
to update financial data.

The service currently requires a transaction from the client application and is working correctly.
The service contract is defined as follows. (Line numbers are included for reference only.)

[ServiceContract]
public interface IDataUpdate

OO0 OO
BN e

[OperationContract]
[TransactionfFlow(TransactionFlowOption.Mandatory))
void Update(string accountNumber, double amount):

L

O OO
-~ o

o O
i

10 class UpdateService : IDataUpdate
11 ¢

12 [ ationBehavior (TransactionScopeRequired = true,
1sactionfAutoComplete = true)]

void Update(string accountNumber,

€ amount)

- O
[
4 ™

‘R

i3

'™

‘og
g bnd
b b

g

0

14
15 try

16 {

17

18 }

19 catch (Exception ex)
20 {

21

22

23 }

24 ]

25

286

The service must be modified so that client applications do not need to initiate a transaction when
calling the operation.

The service must use the client application's transaction if one is available.

Otherwise it must use its own transaction.

You need to ensure that the service operation is always executed within a transaction.
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What should you do?

" A Replace line 12 with the following code.
[CperationBehavior (TransactionScopeRequired = false,
TransactionAutoComplete = false))

" B. Replace line 12 with the following code.
[CperationBehavior (TransactionScopeRequired = false,
TransactionAutoComplete = true) ]

" C. Replace line 05 with the following code.
[TransactionFlow(TransactionFlowCption.NotAllowed) ]

" D. Replace line 05 with the following code.
[TransactionFlow(TransactionFlowCption.Allowed) ]

Option A
Option B
Option C
Option D

Cow>»

Answer: D

QUESTION 12
You are creating a Windows Communication Foundation (WCF) service to process orders.
The data contract for the order is defined as follows:

[DataContract]

public class Order

{

[DataMember]

public string CardHolderName { get; set; }
[DataMember]

public string CreditCardNumber { get; set; }
}

You have the following requirements:

- Enable the transmission of the contents of Order from the clients to
the service.

- Ensure that the contents of CreditCardNumber are not sent across the
network in clear text.

- Ensure that the contents of CreditCardNumber are accessible by the
Service to process the order.

You need to implement the service to meet these requirements.
What should you do?
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A. Add a DataProtectionPermission attribute to the CreditCardNumber property and set the
ProtectData property to true.

B. Convert the DataContract to a MessageContract and set the ProtectionLevel property to
SignAndEncrypt.

C. Change the data type of CreditCardNumber from string to SecureString.

D. Implement the CreditCardNumber property getter and setter In the setter, run the value of the
CreditCardNumber through the MD5CryptoServiceProvider class TransformBlock method.

Answer: B

QUESTION 13

Drag and Drop Question

You develop a Windows Communication Foundation (WCF) service that is hosted within a
console application.

The service implements the IRegistrationService interface in a class named RegistrationService.
The service uses the following endpoint URL.:

http://localhost:8080/registrationservice/basic

You need to configure the console application to host the service.

How should you complete the relevant markup? (To answer, drag the appropriate markup
segment to the correct location in the answer area. Each segment may be used once, more than
once, or not at all. You may need to drag the split bar between panes or scroll to view content.)

Answer Area

basic <endpoint

- 2
basicAddress address=
o Sl binding=" "

IRegistrationService

RegistrationService contract="RegistrationServiceLibrary.
listenUriMode="Explicit">
<identity>
<dns value="localhost" />
<certificateReference
storeName="My"
storeLocation="LocalMachine"
x509FindType="FindBySubjectDistinguishedName" />
</identity>
</endpoint>
<host>
<baseAddresses>
<add baseAddress="http://localhost:8080/registrationservice" />
</baseAddresses>
</host>

Answer:
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Answer Area

Ibagc I <endpoint

—v basi 2
lbagcAddress I address asic

I basicHttpBinding ] "

binding=" basicHttpBinding

| IRegistrationService |

[ RegistrationService ] contract="RegistrationServiceLibrary. IRegistrationService

listenUriMode="Explicit">
<identity>
<dns value="localhost" />
<certificateReference
storeName="My"
storeLocation="LocalMachine"
x509FindType="FindBySubjectDistinguishedName" />
< /identity>
</endpoint>
<host>
<baseAddresses>
<add baseAddress="http://localhost:8080/registrationservice" />
</baseAddresses>
</host>

QUESTION 14

You create a service and deploy it on a network in a building named Building1.
You will deploy the service to Building?2.

The service in Buildingl is configured using the following discovery scopes.

<scopes>

<add scope="http://contoso.com/Chicago/Buildingl"/>

<add scope="ldap:///ou=Buildingl, ou=Chicago, o=contoso,c=us"/>
</scopes>

The service in Building2 will be configured using the following discovery scopes.

<scopes>

<add scope="http://contoso.com/Chicago/Building2"/>

<add scope="ldap:///ou=Building2, ou=Chicago, o=contoso,c=us"/>
</scopes>

You need to ensure that the client application can discover the service in Buildingl or the service
in Building2.
Which scopes should you add to the client configuration file?

A. <scopes>
<add scope="http://contoso.com/Chicago/*"/>
</scopes>
B. <scopes>
<add scope="http://contoso.com/Chicago"/>
</scopes>
C. <scopes>
<add scope="ldap:///ou=Building, ou=Chicago, o=contoso,c=us"/>
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</scopes>

D. <scopes>
<add scope="ldap:///ou=*,o=contoso,c=us"/>
</scopes>

Answer: B

QUESTION 15

You are developing a Windows Communication Foundation (WCF) service that returns location
information for authorized law enforcement agencies.

The service contract is as follows:

[ServiceContract]

public interface IMappingService

{

[OperationContract]

long[] GetLocationCoordinates (String cityName) ;
[OperationContract]

long[] GetLocationOfCitizen(String ssn);

}

Users are authenticated and impersonated.

The system uses ASP.NET roles.

The members of law enforcement are members of the LawEnforcement role.

You need to ensure that only members of the LawEnforcement role can call these methods.
What are two possible ways to achieve this goal? (Each correct answer presents a complete
solution. Choose two.)

A. Add a PrincipalPermissionAttribute to each method that should be available only to
members of law enforcement.
Set its SecurityAction to Demand and set the role equal to LawEnforcement.

B. Use the CurrentPrincipal property of the thread.
Call the IsInRole method specifying LawEnforcement as a parameter.

C. Create a GenericPrincipal specifying Thread.CurrentPrincipal.ldentity as the
lldentityParameter and LawEnforcement as the only value for the Roles parameter.

D. Atthe beginning of each method, enumerate each ClaimSet in a new WindowsClaimSet.
Use the FindClaims method to locate a claim type named Role with a right named
LawEnforcement.

Answer: AB
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